Geometry CC
5.1-5.4 Quiz

Section 5.1 (SSS and SAS)

Name: V-E\l

Date:

1. Show that AABC = ADBC, when x = 6.

26%.5 -+ 207

3x 410 Ax + 4
A D

BC 2 BC (Reflexive)

ZABCZ /L DBC
c 20 = X +20

AB=DB
3x+10 =Hx +4

AABL = /ADBC
b3 SAS

Zo=6+20v 300 )+lo=Y4(,)rYy v

Which postulate, if any, can be used to prove the triangle congruent?
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4. Given: PN bisects MO. PN L MO N
Prove: AMNP = AONP o
P
Statements Reasons
1, N bisects W G‘\: Yvan
2. MN = ON Dot of Bisect

_PN=PN

ReLlexive POC

PN 1 MO

Gwven

. ZPNM = ZPNO

Dae€. o€ Perpendicu\ar B{S&L‘\‘ﬁf
Lot Anole Theorem

3
4
5. ZPNM and ZPNO are right £s
6
7

. AMNP = AONP

14

SAS

Options for Proof:

Definition of Perpendicular Bisector
Reflexive POC

Given

Right Angle Theorem

Given
Definition of Bisector
SAS

Section 5.2 (ASA, AAS, and HL)

Identify the postulate or theorem that proves the triangles congruent.
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Name:
Date: Period:

Geometry CC
5.1-5.4 Quiz

8. Given: ~FAB = LGED, »ACB= LDCE,AC = EC
Prove: LAABC = AEDC
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Statements ﬁeasons
1. /FAB = ZGED Given

2. ZBAC is a supplementary of ZFAB.

Paef. of S . \2S
/DEC is a supplementary of ZGED ST Ar\%’

3. /BAC = /DEC _ Cor\q Supp. £5 Theorem
4. /ABC = /DCE, AC=EC Caven
5. AABC = AEDC ASA
Options for Proof:
ASA » Definition of Supplementary Angles
Congruent Supplementary Angle Theorem Given
Given
Section 5.3 (CPCTC)
9. Given: Isosceles A POR, base OR, PA = FPB P
Prove: AR = BO AN
N
Statements Reasons
1. Isosceles APQR, baseQR G\\/U"\
2 PQ=PR Def. oF lIsosc. ‘[‘wcmOr\a
3. PA=PB Even
4. /P= /P | Kaotlexive POC
5. AQPB = ARPA CAS
6. AR =BQ cecre
Options for Proof:
Reflexive POC Given
SAS Def. of Isosceles Triangle
Given CPCTC
10. Use the glven set of points to prove ADEF = AGHS D -
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Geometry CC Name:
5.1-5.4 Quiz Date: Period:
11. Given: X is the midpointof AC. 21 = 22 A B

Prove: Xis the midpoint of BD. V

5 / X Z.C/

Statements Reasons
1. X is midpoint of AC. /1= /2 Given
2. AX=CX Dot oé Midpoink
3. AX = CX Def. of & Saoments
4. ZAXD = ZCXB verhcel\ £4s ”
5. AAXD = ACXB ASA
6. DX = BX cpPCcTC
7. DX =BX De€. o = Seaments
8. X is midpoint of BD Dol of WAL c)joucn\n-‘r '

Options for Proof:
CPCTC

Given

Def. of Midpoint
Vertical Angles

Def. of Midpoint

Def. of Congruent Segments
ASA

Def. of Congruent Segments

Section 5.4 (Isosceles and Equilateral Triangles)

Find each angle measure.
P

R/J/D\’?\p
Bx — 17 2x+10)
1. m£R
e = LQ
5x-1% =2x+\0
Ix =23
X=9 — Le=2%

Find each value.
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LY+ +LQ =190
X+ 2 + 29 =20

X+96 =120

X=124° —> £p = |124°

3 Ux-20 =0
. X
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(= 20y = (0 - K=lo
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52° sa\& X
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st 122+ X +X = IR0
=122° 1224 2 X =0
LX =Sk

X =20




